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Focus on Science

Scientists on the decline

As science becomes increasingly important in our daily lives, so the
shortage of scientists gets greater. The number of students going to
university to study pure and applied sciences is decreasing by about five
per cent each year. This, in turn, leads to a drop in the number of people
able to be science teachers in schools. This shortage of science teachers,
unsurprisingly, leads to fewer school children studying science, and even
fewer going on to university. Prominent scientists believe that one of the
reasons is that science is undervalued in society; people do not discuss the
latest scientific breakthrough in the same way they would discuss the
latest bestseller. It could also be because scientists starting their
professional lives are often poorly paid. However, some scientists think
that the reason is a distrust of scientists because of the claims for
‘breakthroughs’ and ‘cures’ for diseases which do not actually happen.
Whatever the reason, young people must be encouraged to study science.
The world needs scientists.




5 EEXBUTAEINTE Write sentences in your own words using your notes. Do
not look back at the text Scientists on the decline.

There is an annual fall of around five per cent in the number of people studying science in
higher education.

STUDY SKILL Paraphrasing and summarizing

You often need to use other sources, for example other people’s work, in your own
essays and reports,

This can be done by:
m paraphrasing information, that is, rewriting information in your own words. Use
synonyms wherever possible (see Study Skill p26).

m summarizing the information, that is, linking the main points in your own words.

NOTE You may quote directly from the piece of work, but it is essential to give the
source of the quote and its author, e.g.

... Dr G. Bennett, the author of the study, concluded (2006, p19]) ‘Poor eating
habits in early childhood can lead to health problems in later life.’

The use of other people’s work ‘word for word” without saying you have done so
(plagiarizing) is strictly not allowed.

Writing a summary

6 Use your sentences in exercise 5 to write a paragraph (50-75 words)
summarizing the text.



VOCABULARY DEVELOPMENT
Words that go together

l Scan the texts in the unit to find the STUDY SKILL Noun/Verb + preposition

repositions that go with the nouns. -
i 5 To use a word correctly, it is necessary to know the words
I asource _of 5 alink which are associated with it, e.g,

noun + preposition  a connection between

1 theproblem 6 aleel ____ verb + preposition  to die from
banincrease 7 ashortage_____ When you look up a new word in the dictionary, remember
4 aconnection 8 adistrust to note the preposition(s) that go with it. The example

: e sentences will help you choose the correct preposition.
1 Complete the sentences with the correct preposition. Scan L) i

the texts or use a dictionary to help.

I Increased pollution may lead more llness.

1 Forest fires can contribute __ anincrease in air pollution.

3 Some cyclists wear face masks to protect themselves ____pollution.

4 The number of maths students has decreased ____six per cent.

§ Scientists are looking __ ways to encourage more people to study science.



Using numbers

3 The numbers in the box are taken from the texts in the unit. Can you

remember what they represent?

25,000 25 49% one in ten

4 REBUETTTS Match numbers 1-10 to facts a-j.

Compare your answers with a partner.

. The average temperature of a humaniis ...
. The coldest recorded temperature on Earthis ...
. The population of China s ...

The height of Mount Everest in metres is ...

1
2
3
4
5 The amount of the Earth that is covered by sea is ...
6 | The average number of hairs on a person’s head is ...
F
8
9

. The value of the mathematical symbol pi (1) is ...
The approximate distance to the moon is ...
' The number of Arabic speakers in the world is ...
10 | The number of bytes in a gigabyte is ...

8,850 metres
37°C

110,000
382,500 km
1,306,313,812
1 billion
314159265
70%

-89.4°C
174,950,000
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STUDY SKILL Using numbers

Numbers are frequently used in academic and professional

writing and speaking.

Cardinal numbers, e.g. 22, 407, 2,056, 1345644

Use a comma to separate millions and thousands.

Five billion/million/ five million (not millions)
thousand/hundred

407 four hundred and seven

3476 three thousand, four hundred

and seventy-six
Ordinal numbers
first/1st  second/2nd third/3rd, etc

Ratios, decimals, percentages, and temperatures

1:5 a ratio of one to five

62% sixty-two per cent (not per cents)

0.7 nought /no:1/ point seven

Vash 3 a quarter, a third, a half, three quarters

6.05 six point oh five

-5C five degrees (Celsius/centigrade) below zero

minus five degrees (Celsius/centigrade)



REVIEW

1 Read the three texts. Highlight facts in blue and speculation in pink,

Old shoes

Scientists believe the first shoes were worn about 30,000 years ago.
When shoes are worn, the toe bones get weaker. There is evidence
that humans 30,000 years ago had toes which were weaker than
those of their ancestors. This, the scientists claim, is because they
started wearing shoes.

Bright veggies

Brightly-coloured fruit and vegetables, like carrots and oranges,
could protect against diseases such as arthritis. These vegetables and
fruit contain vitamin C and other elements which work against the
disease. So, if you enjoy eating lots of oranges, you could also be
helping your body to fight disease.




The ancient origins of tuberculosis

Scientists used to believe tuberculosis (TB) was just tens of
thousands of years old, but studies of ancient skeletons suggest the
disease existed in East Africa three million years ago. Scientists hope
to use this new information in their fight against TB, as this disease
kills three million people a year.

2 Use a dictionary to find prepositions that go with the verbs and nouns.

verbs

apply —
concentrate
consist

depend

search
suffer

l
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nouns

reason
demand
cause
solution
rise
reaction

Today is his forty birthday.
More than 6 millions people watched the final.
There was an increase of five point two nought six.

They received a pay rise of four per cents.
Today’s temperature is 7 degrees under zero.

Correct the mistakes in the sentences.



